A ,
$7. The diagram below shows the trizngle ABC with AB =x cm, AC = 8 cm and BAC = 150°.

&

Giver that the area of the triangle ARC is 10 cm®,

(a) findx, 3]
(b) calenlate the length of the longest side of the thangle ABC, giving your answer correct to
two decimal places. [3]
June 2006
$8. The tdangle ABC is such that AB = 6 em. AC = 10 cm and BAC is an obtuse angle, The area of
triangle ABC is 154/3 cm?. '
(¢) Find the size of BAC. 3]
{b} Cdlculate the length of BC. [3]
Jan 2007
59. The @Eagram below Shows the triangle ABC with AB = x em, BC = 3x cm. AC = 7 em. znd
Al
ABC = 60",

(a) Showtfhat x=+7 . [3]
(b} Find ACB.

2]
June 2007
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£y, Inmangle ABC, AB=6cm, BC=13cmand CA=9cm.

{a} Fmdthe value of cos BAC as a fraction in ifs lowest ferms. | 3]
(b} Show that the atea of thangle ABCis 4-/35cm?. [3]
Jan 2008
i 61, The diagram below shows the triangle ABC with AB =xcm, AC = (v + 4)em and BAC = 150°.
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Given that the area of the mangle ABC is 15 em®,

{a} fmd the value of x, [31

{b) hnd the Jength of BC correct to one decimal place. [2]
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